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Q.1 Questions /=¥ A B c D
b arK Aleblde e X" patd e J' ol ;
1. | Sum ofthe deviations of thevariable " X" from z on s“ ) it
its mean is always: ero ne ame Different
dbééb[—upl{'d?/ /J (Ve /»uf-oibdu..gl J’- o o J- > 3 17
2. Y 54
Z?:eglae fzfo :gx:?gfelgﬁgfgem central Congruent Perpendicular Incongruent Parallel
3. iyt 90° 180° 270° 360°
Acomplete circle is divided into:
J:U;d(}u’b’é{.gnéﬁdﬁﬁéoibug i, e s chf
4, ML <
Z";:s::g?f;‘:: I Wa ﬁ:ﬁﬁ;’l‘:m Bkt " Half Equal Double Triple
5. | sec’@=. ‘ 1-sin’8 1+cos* @ 1+tan’ @ 1-tan®@
s v E e ¥ Ly
6. | How many tangents can be drawn from a point 1 2 3 4
outside the circle?
-q_:lﬂéu})(ﬂ ax? +bx +c =0 =blr@ian ;
7. | The number of terms in a standard quadratic 1 2 3 4
equation ax? +bx +c =0 is:
8. -b"’-t”ﬂ""-"-(' -1 o -w, -0 -1, &, - @* -1, -, @ L,-0,-o
Cube roots of -1 are:
9. qul’ffg\f’ﬂbkéévi 3 =1 1 0
Sum of the cube roots of unity is:
10. _4—lﬂk/aw‘a:b¢ﬂ?} Cf’J ‘}J& ?Jd/” »g-/t':
Inthe ratio a:b, aiscalled: Relation Antecedent Consequent Proportion
11. W EBRUEXIYEVIW x w . x
The fourth proportional wof x:y:iv:.W is: v X %4
1
‘4’5{‘ 2x+
12. (x+D(x-D Py bl g v
2x+1 is: Animproper fraction|  An equation A proper fraction An identity
(x+D(x-1) ‘
13. bl S SIS e A erd -1 o
A set with no element is cailed: Empty set Sub set Singleton set Super set
14. sl ord é x 1
Power set of an empty setis: { } {¢ { }} {¢}
15. e banatied S L s P Pl sls g/ 14w ]
L Mean is affected by change in: Place Scale Rate value
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Note:- Section B is compulsory. Attempt any three (3) questions from Section C but question No.9 is compulsory.

(SECTION-B /».»)

2. Write short answers to any six parts.

i.  Write the names of two methods for solving a quadratic equation.

ii. Solve by factorization. ‘
iii. Solve the equation by using quadratic formula.
iv.  Find the discriminant.
v. Evaluate.
vi. Write the quadratic equation having roots:
vii. Define proportion. ’
viii. Find x,if 6:x::3:5
ix. Find a mean prdportional between:

3. Write short answers to any six parts.

i. Define proper fraction.
ii. Convert into proper fraction.

iii. Define intersection 6f two seté.
iv. If U={1,2,3,..,10}, B={3,58} thenfind B'.
v. IfY=Z"and T=0" thenfind YNT.
vi. Find aand b, if

vii. Define a median.

viii.
ix. Find median of the data.

4. Write short answers to any six parts.

i. Convert 11-3—‘? radian to degree.

ii. Find £ when r=4.9cm,0=180"
ili. Show that.

iv. Define degree measure of an angle.
v. Define obtuse angle.
vi. Define length of a tangent.
vii. Define chord of a circle.
viii.
A and B,6 cm apart.

ix. Define inscribed circle.

Find the geometric mean of 2,4,8 using basic formula.
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5.(a)

(b)

6.(a)

(o)

7.(a)

()

8.(a)

()]

9.(a)

(b)
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Attempt any THREE questions. Each question carries Eight marks. But question No.9 is compulsory.

(4+4=8)

Solve: 3x2+5=8x" £
,ér:"’a":‘j %+£ JuUn(Roots) tf‘»L x*+px+q=0=blf.a /i
a

a
If ¢, B are the roots of the equation x% + px+q =0, then evaluate TB—+—— .
o

7 x= Az /lé()”:/fd x+2y+_)£i2_z_ L!?L/JLPPI:/‘):’J)J}'M
y+z x-2y x-2z

x+2y+x+22 i 4yz

Using theorem of componendo-dividendo, find the value of fx=
x-2y x-2z y+z
2
x*-3x+1
Resolve into partial fractions. (x _1)2 (x— 2) ,a{:d.’.‘?u?u/d:i
B ANB E ol B={L47,10} s 4={1,357,9}.U ={1,2,3,4,...10} /
iU ={1,2,3,4,...,10}, 4={1,3,5,7,9} and B= {1,4,7,10} then veriy A—~B=ANB’
Calculate variance for the data. 10,8,9,7,5,12,8,6,8,2 ,é()”.v;ﬁﬁc_;lrbu
Lot S j FACEIN O il sinb == /]
& pe cosecd sl secO. tanﬁm.-,u‘lcém,,duwodb’ G L shinl Smg—\/_—i |
if sinf = ;1— and terminal side of the angle is not in quadrant i, find-the values of tan@,secd and cosecd.

N

Circumscribe a circle about an equilateral triangle ,ﬂ(4&@1(5€f;ﬂ£dl.ﬁé,b;uib/w ABC JCPUIU:V
ABC with each side of length 4cm. _
Prove that if two chords of a circle are congruent ,Lu,vr.“lwd;l/:—f p0d umf' 7 »La.ib/lf zé.azt"

then they will be equidistant from the centre.
OR L
Prove that the opposite angles of any quadrilateral _dLﬁ(ﬁ%@a!i.&@&;f:@(5:/’!)(39/’!:0'(/3(‘:/.&

inscribed in a circle are supplementary.

(a).5
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(a).6

(b)

(a).7
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(a).8

(b)

(a)-9

(b)
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Note: ~You have four choices for each objective type question as A, B, C and D. The cholce which you think is correct; fill that circle In front of that
question number in your answer book. Use marker or pen to fill the circles. Cutting or filling up two or more clrcles will result no mark.

SECTION-A (i.»

Q.1 Questions /=1y A B c D
" ) BUs RS U 0 Fu o = ¢, o
* | Afrequency polygon is a many sided: Closed figure Rectangle Square Triangle
2. | cosec’@—cot’f = -1 0 tand 1
The symbol for a triangle Is denoted by:
4. | A e v;l:iiﬁ‘:: t{{ )g;::tjsﬂinéc‘;r; 'r’“‘g;‘u; 1;;2 sinekeJis cosine ¥2_ b tangent¥es» | SOcaNt :/ 4;; b
dclals calléd- P sineof acircle | cosineof acircle | tangentofa circle se%?rtlg a
3
x#+1 s
. B e t— 2l , &
. T % (x—l)(x+2) / sl e AV g Rldﬁ/
. . S AProper
(x-1)(x+2) Is: fiaction ‘An Improper fraction  An Identity A Constant term
-q—aﬂﬂj’éé—:u&’ﬁéu/u.—g T V4 T Vs
6. | The measure of the external angle of a regular —2‘ Z g '3—
hexagon s: |
'-’gﬁ,'-('J (5 3 +3" +6=0=blr @l)b‘éu.:a} wehlaiog bl )6' il 2
7. An equation of the type 3*+3°*+6=0 is Exponential Radical Reciprocal Quadratic
a/am: equation equatlon equation equation
8. -d’-d'/’”'f”‘('a“ L, @ 1,1 L-w », 0
Two square roots of unity are:
2a?uncf‘11£-px2 +gx+r=0 bl B, A
9. 4§ 2P = £ H2g =4
If @, /3 arethe roots of px’ +gx+r=0,then pP p P 2p
sum of the roots 2a and 27 is:
dn 22X /i
10. L u=wk’ u=vk® u=wk u=v'k
if % =Y = kthen:
vV w
11. ,4_8)1#,;6@!(1’1—&{1)&& { 125 3} 4 6 , 8 9
The number of elements In power set {1, 2, 3} Is:
= bl {x|xeWAx<iI0lfow |, oo, i i -
The set { x | xeWAx< 101} Is called: Infinite set Sub set Null set Finite set
i 72357 Kl 40° i8S I ) .
13. | Anarc subtends a central angleof 40" then the 80 60 40 20
corresponding chord will subtend a central angle of:
. I T . . " o §ok
“ bl Ursrid 53/ o P Lt o ,g:: m‘; t‘ie
J L Data Frequen'cy Frequency frequency
A grouped frequency table is called: distribution polygon distribution
15. by Sy e g ‘3;& PJ(S/» ol
Inaratio x: y, y iscalled: _ Relation Antecedent Consequent Proportion

Pzt~

112-223-1A-34000 * * *

L




// Mathematics (Science Group) SSC (10'*)1°* Annual 2023

Time  : 2110 Hours Group: Il Paperg () 24 pnigsS  Exi0: S
Marks : 60 Subjective 8(55! SCJL ~2~23 60: A
> 81 DAV F B epzLudrd eSS atfr o g $il tnoie

Note:- Section B is compulsory. Attempt any three (3) questions from Section C but question No.9 is compulsory.

vi.

vii.

viii.

vi.
vii.

viii.

Use synthetic division to find the quotient and the remainder, when:

SECTION-B (».»

Write short answers to any six parts. (6x2=12) -2.’54 Al F Laz1ge 37
: : x o x+l é’ i

Write quadratic equation in standard form. el + N T SO I

Solve the equation using quadratic formula. 4x? 14 =3x _éd’édu”:Lu,uw,ww,v

Solve. X 42x—-2=0 £

7 -

Evaluate. (9 +ho+ 4“’2) _é(}” oA

Find the nature of thg roots of the quadratic equation.  x* —23x+120=0 ,éé(P’(UIJJ;JLal;Vél;;>
(x3 +x7 ——3x+2)-:—(x-2) :.,zér!”é!,»la;flaé,ﬂl,/du;’lff&()'
(¥ +x* —3x+2)+(x-2)

,Z’(}”x ty e13(4x~5y) = 2x-7y /i

AT =6LE 0 RInT =32 R=8un R T* /i

If 3(4x-5y)=2x-Ty,find the ratiox : y .
If RcT?and R=8when T =3,find Rwhen T'=6

Find the third proportional to: 6,12 -ér'}”.,/&'l/f
Write short answers to any six parts. (6x2=12) -2'2(‘4 Y4 L,lzu;c,[}f
Define improper fraction. : ,éé..g A g il 2
' 6x’ +5x° -6 .
Convert the improper fraction into proper fraction. —2—;2—:;;—1— -éd.é'uf‘- / w2lsf / 2l

E P YOUX InY ={2,4,5,9} 4 X ={1,4,7,9} /]
YA XY ={2,4,59) 4 X ={1,4,7,9} /]
e XAT T=0 51X =9/

o' A8 A-B I B=W s A=N /i

It X ={1,4,7,9} and ¥ ={2,4,5,9} thenfindY L X .
If X={1,4,7;9} and ¥ ={2,4,5,9} then find Y n.X .
if X=¢ and T=0" thenfind X NT.

If A=N and B=W ,then find the value of 4-B.

Find the range for the following weights of students. -éﬁ” wduwtéur" )
] 110,109,84,89,77,104,74,97,49;59,103,62
Define variance. ' -Z’qﬁéqj

Find the arithmetic mean by direct method for the following set of data. -a‘é()" mu,}l.;é;lrd,s.gm:,&/ww
| 12,14,17,20,24,29,35,45

Write short answers to any six parts. (6x2=12) _ég Falis AF Lolilié—(}f
Convert into radian. 124°22' ~4'ébtiuﬁd.§/

,é‘-_fo."«:t"
Lyl /S o F I B
£=2cm:r=35cm .Q.’é(;‘”ﬁ

Prove that. sin’ @ =sin @ —sinfcos’ 6
Write formula for finding area of a circular sector.

Find & when?=2cm, r=3.5cm

Define obtuse angle. : -4‘.{4 v 6._,:114 y
Define tangent. -éqﬁéuu
Define sector of the circle. ,éuj /7(5 y P

Define circle.

-c’éd;ﬂ(gu’b
Define polygon.
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5.(a)

(b)

6.(a)

(b)

7.(a)

(b)

8.(a)

(b)

9.(a)

(b)
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(4+4=8) -445;0&/1}%1?,‘;1 ALy g iz Lctivef e §F

Attempt any three questions. Each question carries Eight marks. But question No.9 is compulsory. (4+4=8)

Solve the equation by bompleting square. ) ‘ x2—3x—-4=0 ,éégfé(‘é/‘_}féfabl/
Find the cube roots of 8. ,é(:"’.,.zﬂwgé 8
%
acrcerea [ace " (fobi (abedef20) 2=5=2 £
bd +df + fb \ bdf b d f
2'\
R ) (a,b,c,d,e, f +0) then show that aorperen gl
b d f bd+df + fb \ bdf
. x*+7x+11 2
Resolve into partial fractions. _ééyu‘i//d;f

(x+2)2(x+3)

(4-B) & A UBSE k] B={1,4,7,10} s 4={1,3,57,9}.U ={1,2,3,..,10} /]

if U ={1,2,3,...,10}, 4={1,3,5,7,9}/and B={1,4,7,10} then prove that (A-B) =4'UB

Calculate variance. 10;849,7,5,12,8,6,8,2 _é(}”;f_j

,érk’wfdduéy{‘@t?nﬁ&%{» ;JLdﬁ,’LIK-_Q-,_«;IJuI@OS‘Q = %2- il

(a).5

()

(a).6

(b)

(a).7

(b

(a).8

=2 .
If cos @ = — and terminal arm of the angle & is in quadrant I1, find the values of remaining trigonometric functions.

U3 35 AJEAS CA s BC » AB LI U1 &b bus®§ AABC

Inscribe a circle in a triangle ABC with sides [AB' = 5cm, BCI =3cm, ICA| =3cm

Prove that one and only one circle can pass through _zriéjﬁii,d.,{ra/uufmm&’,iufJéab
three non-collinear points.

OR L ¢
Prove that the opposite angles of any quadrilateral 441](5/"{\{:4.;11.&lsi’l./f;?,du'b&c,/’bo‘(fziiaL“
inscribed in a circle are supplementary. AL

(b)

(a).9

(b)
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